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No 5 PN B DIERE o L-134 o L-137 SEfE

Bag. kg Ba. kg Ba ke
1 =] R7.7.15 YILLSH X BREE9(<47) BRHE9(<5.0) BRHEEY
2 SEEWT R7.7.15 YILLSH X BRHEEI(<5.7) BREE9(<4.9) BHEEY
3 SEENT R7.7.15 ST (FEER BRHET(<29) BRHET(<4.2) BREed
4 At R7.7.15 EONAY (FEER) BRHEE9(<6.3) BRHEE9(<7.3) -
5 =ka7) R7.7.10 F—<> BRHET(<3.6) BRHE9(<3.6) BREed
6 =kzn7) R7.7.10 EOANAY BRHEEY(<3.9) BRHEE9(<3.3) -
7 =Ra7) R7.7.10 SRk (FEER) BREE9(<22) BRHET(<L3.1) BEed
8 =ka7) R7.7.10 YILLSH X BRHE9(<6.0) BRHEE9(<41) BT
9 =17 R7.7.14 FR BRHET(<3.2) BRHET(<4.1) BEed
10 aAE)hH R7.7.14 E—<> BREE9(<5.9) BRHEE9(<4.3) BT
11 EHEET R7.7.14 ryEQOS BRHE9(<3.6) BREE9(<29) BRHEET
12 EMEEm R7.7.14 INLA3 BRHEE9(<3.9) BRHE9(<3.6) - daskcac
13 FEMH R7.7.15 ryEQOS BRHE9(<3.6) BEE9(<3.3) BRHEET
14 FEH R7.7.15 + 2 BREE9(<5.1) BRHEE9(<3.2) - daskcac
15 SYTHET R7.7.15 FR BREE3(<48) BRHEEI(<44) BEed
16 = R BT R7.7.15 kEOOD BREE9(<44) BRHE9(<4.2) BrEed




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg

17 = RET R7.7.15 FR BRHEET(<T.1) BRHEE9(<5.4) BRHEEY
18 JIRET R7.7.11 A% BRHE9(<3.3) BRHE9(<3.8) > Jarkcacl
19 REH R7.7.15 FaY BREE7(<48) BREET(<37) : Jarhcars
20 =2 R7.7.14 b2k (FEE% BRHE9(<3.2) B 9(<35) > Jarkcacl
21 k3= R7.7.15 koEQOY BREET(<41) BREET(<41) BRHEEY
22 P EET R7.7.15 S (R BRHE9(<35) BRHE9(<2.9) > Jarkcacl
23 SEHRHET R7.7.15 =k BRHEE7(<4.0) BRHEET(<37) BRHEEY
24 ¥ ACHT R7.7.15 bk (FEER) BRHE9(<35) BRHEET(<2.7) BRHEEY
25 =BT R7.7.16 A3 BRHE9(<4.6) BRHE9(<3.9) BRHEEY
26 RRFOA R7.7.16 I=pTh BRHEE9(<3.2) BRHE9(<28) BRHEEY
27 Eip R7.7.10 A% BRHEEY(<3.2) BRHE9(<25) BRHEY
28 P R7.7.14 b2k (FEER) BRHE9(<36) BRHE9(<338) BRHEY
29 RIS R7.7.10 E—<> BRHE9(<6.2) BRHEE9(<48) BRHEY
30 SRIBT R7.7.10 HRF v BRHE9(<29) BRHE9(<20) BRHEY
31 SRIGH R7.7.10 koEOOY BRHE9(<25) BRHE9(<3.9) BRHEY
32 SRIET R7.7.10 F R (FEE%) BRHEET(<4) BRHEE7(<3.9) BREEY
33 SRIGH R7.7.10 FaoY BRHE9(<4.6) BRHE9(<3.9) BRHEY
34 SRIET R7.7.10 S (HEER) BRHEE7(<3.9) BRHEE9(<25) BREEY
35 SRIGHS R7.7.10 i 2 BRHE9(<36) BRHE9(<3.3) BREEY
36 P EF R7.7.10 FR BRHEE7(<48) BRHEE9(<5.0) BREEY




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg

37 V) R7.7.10 Vi P2 BRHEE7(<4.9) BRHEE9(<3.6) BRHEEY
38 tEHT R7.7.10 HRF v BRHEE7(<3.0) BmEE(<27) > Jarkcacl
39 iz )1+ R7.7.14 Y5 (HEER) BHE9(<6.1) Bt 9(<5.2) BEEY
40 aJIET R7.7.15 SR (SR BRHE9(<3.2) BRHE9(<3.3) > Jarkcacl
41 FHEH R7.7.14 FaY B 9(<40) BHE9(<3.1) : Jarhcars
42 FHH R7.7.15 YAy (MR BRHE9(<6.9) B 9(<4.6) > Jarkcacl
43 [ EFET R7.7.14 b2k (FEER) BRHE9(<3.9) BRHEEY(<3.1) BHEd
44 [ E7HT R7.7.14 FUTHA BRHEE7(<33) BRHEE7(<32) BRHEEY
45 HEZERT R7.7.14 wY BRHEE7(<3.6) BRHEE7(<42) BRHEEY
46 = [EET R7.7.14 b2k (HEE% BRHEET(<44) BRHE9(<2.9) BRHEEY
47 = [ BT R7.7.14 SR (EER) BRHE9(<29) BRHE9(<25) BRHEET
48 = [ BT R7.7.14 ¥ BRHE9(<3.9) BRHE9(<3.9) BRHEY
49 = e T R7.7.14 RAH BRHEE7(<35) mHE9(<28) BRHEY
50 KEEHRT R7.7.14 k€D BRHEET(<41) BRHEE9(<3.8) BRHEET
51 SRGTHT R7.7.14 ¥ BRHE9(<36) B 9(<35) BRHEET
52 RITHET R7.7.14 mE S BRHE7(<6.6) BRHEET(<5.7) BREEY
53 SRGTHT R7.7.14 bk (FEER) BRHE9(<26) BRHEE9(<34) BRHEET
54 EREEFT R7.7.14 A F BRHEE7(<38) BRHEET(<3) BREEY
55 E3=-22 /NIo) R7.7.15 RAEE BRHEE9(<5.2) BRHE9(<5.2) BRHEET
56 ARl R7.7.14 AEE BRHEE7(<3.6) BRHEE9(<3.6) BRHEEY




BREHR

No BT REH REDIELE t 134 3 L-137 BEIE
Bag. kg Ba. kg Ba kg
57 LU R7.7.14 EE BRHET(<5.4) BRHET(<4.2) BEed
58 EZAH R7.7.11 AFThH BREE9(<45) BRHEE9(<5.2) BRHEEY
59 EZA™ R7.7.16 EE BRHEEI(<5.6) BREEI(<3.7) BREET
60 EZAH R7.7.16 Yo BREE9(<4.8) BRHEEI(<41) BRHEEY
61 SERET R7.7.14 EE BRHEET(<4.1) BREEF(<3.1) BRHEET

BRBEEEICBT2—REROEEE €29 L 100Ba/kg(E>HL-134, £ L-13TDEEE)




